Chapter 17 Behavioural Aspects of Standard Costing

Answer 1

(a)

The total variances are as follows:

Total price variance = ($5.25 – $4) × 3,500kg = $4,375 Adverse

Total usage variance = (3,500 – 4,000) × 4 = $2,000 Favourable

This makes a total of $2,375 Adverse
(b)

The planning variances are calculated by comparing the original budget and the revised standards after adjustment for factors outside the control of the organisation.

On this basis the revised standards would be a price of $4·80 per kg with revised usage at 42g per card.

Planning price variance = ($4·80 – $4) × 4,200 = $3,360 Adverse

Planning Usage variance = (4,200 – 4,000) × $4 = $800 Adverse

The total planning error (variance) is $4,160 Adverse

The operational variances compare the actual spend with the revised budget figures.

Operational price variance = ($5·25 – $4·80) × 3,500kg = $1,575 Adverse

Operational usage variance = (3,500 – 4,200) × $4·80 = $3,360 Favourable

The total operational variance is $1,785 Favourable
(c)
The production manager is subject to external pressures which appear beyond his control. The size of the security card has to fit the reader of that card and if the industry specification changes there is nothing that he can do about that. This is, then, a ‘planning’ error and should not form part of any assessment of his performance.
Equally if world-wide oil prices increase (and hence plastic prices) then the production manager cannot control that. This would be allocated as a planning error and ignored in an assessment of his performance.
The performance of the production manager should be based on the operational variances (and any relevant qualitative factors). The decision to use a new supplier ‘cost’ an extra $1,575 in price terms. On the face of it this is, at least potentially, a poor performance. However, the manager seems to have agreed to the higher price on the promise of better quality and reliability. If this promise was delivered then this could be seen as a good decision (and performance). The savings in waste (partly represented by the usage variance) amount to $3,360 favourable. This would seem to suggest better quality. The fact that the production level jumped from 60,000 to 100,000 also suggests that suppliers’ reliability was good (in that they were able to deliver so much). The net variance position is relevant at a saving of $1,785.
It is also possible that such a large increase in volume of sales and production should have yielded a volume based discount from suppliers. This should also be reflected in any performance assessment in that if this has not been secured it could be seen as a poor performance.
This is backed up by the lack of obvious quality problems since we are told that 100,000 cards were produced and sold in the period, a huge increase on budget. The ability of a production manager to react and be flexible can often form a part of a performance assessment.
In conclusion the manager could be said to have performed well.
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Answer 2
(a)(i)

Sales price variance and sales volume variance

Sales price variance = (actual price – standard price) x actual volume
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Sales volume contribution variance = (actual sales volume – budgeted sales volume) x standard margin
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(a)(ii)

Material price planning and purchasing operational variances

Material planning variance = (original target price – general market price at time of purchase) x quantity purchased

($60 – $85) x 1,400 = $35,000 A.

Material price operational variance = (general market price at time of purchase – actual price paid) x quantity purchased.

($85 – $80) x 1,400 = $7,000 F.
(a)(iii)

Labour rate and labour efficiency variances

Labour rate variance = (standard labour rate per hour – actual labour rate per hour) x actual hours worked.

Actual hours worked by temporary workers:

Total hours needed if staff were fully efficient = (750 x 2) + (650 x 1·5) = 2,475.

Permanent staff provide 2,200 hours therefore excess = 2,475 – 2,200 = 275.

However, temporary workers take twice as long, therefore hours worked = 275 x 2 = 550

Labour rate variance relates solely to temporary workers, therefore ignore permanent staff in the calculation.

Labour rate variance = ($14 – $18) x 550 = $2,200 A.

Labour efficiency variance = (standard labour hours for actual production – actual labour hours worked) x standard rate.

(275 – 550) x $14 = $3,850 A.
(b)

Explanation of planning and operational variances

Before the material price planning and operational variances were calculated, the only information available as regards material purchasing was that there was an adverse material price variance of $28,000. The purchasing department will be assessed on the basis of this variance, yet, on its own, it is not a reliable indicator of the purchasing department’s efficiency. The reason it is not a reliable indicator is because market conditions can change, leading to an increase in price, and this change in market conditions is not within the control of the purchasing department.
By analysing the materials price variance further and breaking it down into its two components – planning and operational – the variance actually becomes a more useful assessment tool. The planning variance represents the uncontrollable element and the operational variance represents the controllable element.
The planning variance is a really useful for providing feedback on just how skilled management are in estimating future prices. This can be very easy in some businesses and very difficult in others.
The operational variance is more meaningful in that it measures the purchasing department’s efficiency given the market conditions that prevailed at the time. It therefore ignores factors that the purchasing department cannot control, which in turn, stops staff from becoming demotivated.
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Answer 3
(a)

A budget forms the basis of many performance management systems. Once set, it can be compared to the actual results of an organisation to assess performance. A change to the budget can be allowed in some circumstances but these must be carefully controlled if abuse is to be prevented.
Allow budget revisions when something has happened that is beyond the control of the organisation which renders the original budget inappropriate for use as a performance management tool.
These adjustments should be approved by senior management who should attempt to take an objective and independent view.
Disallow budget revisions for operational issues. Any item that is within the operational control of an organisation should not be adjusted.
This type of decision is often complicated and each case should be viewed on its merits.
The direction of any variance (adverse or favourable) is not relevant in this decision.
(b)

Materials

Arguments in favour of allowing a revision
· The nature of the problem is outside the control of the organisation. The supplier went in to liquidation; it is doubtful that Spike Limited could have expected this or prevented it from happening.
· The buyer, knowing that budget revisions are common, is likely to see the liquidation as outside his control and hence expect a revision to be allowed. He may see it as unjust if this is not the case and this can be demoralising.
Arguments against allowing a budget revision
· There is evidence that the buyer panicked a little in response to the liquidation. He may have accepted the first offer that became available (without negotiation) and therefore incurred more cost than was necessary.

· A cheaper, more local supplier may well have been available, so it could be argued that the extra delivery cost need not have been incurred. This could be said to have been an operational error.
Conclusion

The cause of this problem (liquidation) is outside the control of the organisation and this is the prime cause of the overspend. Urgent problems need urgent solutions and a buyer should not be penalised in this case. A budget revision should be allowed.
Labour

Arguments in favour of allowing a revision
· The board made this decision, not the departmental manager. It could be argued that the extra cost on the department’s budget is outside their control.
Arguments against allowing a budget revision

· This decision is entirely within the control of the organisation as a whole. As such, it would fall under the definition of an operational decision. It is not usual to allow a revision in these circumstances.

· It is stated in the question that the departmental manager complained in his board report that the staff level needed improving. It appears that he got his wish and the board could be said to have merely approved the change.

· The department will have benefited from the productivity increases that may have resulted in the change of policy. If the department takes the benefit then perhaps they should take the increased costs as well.
Conclusion

This is primarily an operational decision that the departmental manager agreed with and indeed suggested in his board report. No budget revision should be allowed.
An alternative view is that the board made the final decision and as such the policy change was outside the direct control of the departmental manager. In this case a budget revision would be allowed.
(c)
Total sales variances

Sales price variance = (Actual SP – Std SP) x Act sales volume

= (16·40 – 17·00) x 176,000

= $105,600 (Adverse)

Sales volume variance = (Actual sales volume – Budget sales volume) x Std contribution

= (176,000 – 180,000) x 7

= $28,000 (Adverse)
(d)

Market size and share variances

Market size variance = (Revised sales volume – budget sales volume) x Std contribution

= (160,000 – 180,000) x 7

= $140,000 (Adverse)

Market share variance = (Actual sales volume – revised sales volume) x Std contribution

= (176,000 – 160,000) x 7

= $112,000 (Favourable)
(e)

Comment on sales performance

Sales Price

The biggest issue seems to be the decision to reduce the sales price from $17·00 down to $16·40. This ‘lost’ $105,600 of revenue on sales made compared to the standard price.
It seems likely that the business is under pressure on sales due to the increased popularity of electronic diaries. As such, they may have felt that they had to reduce prices to sustain sales at even the level they achieved.
Volume

The analysis of sales volume into market size and share shows the usefulness of planning and operational variances. Overall, the sales level of the business is down by 4,000 units, losing the business $28,000 of contribution or profit. This calculation does not in itself explain how the sales department of the business has performed.
In the face of a shrinking market they seem to have performed well. The revised level of sales (allowing for the shrinking market) is 160,000 units and the business managed to beat this level comfortably by selling 176,000 units in the period.
As mentioned above, the reducing price could have contributed to the maintenance of the sales level. Additionally, the improved quality of support staff may have helped maintain the sales level. Equally the actions of competitors are relevant to how the business has performed. If competitors have been active then merely maintaining sales could be seen as an achievement.
Spike should be concerned that its market is shrinking.
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